Responses to Pre-bid Queries raised by Potential Bidders

on

Request for Proposal

for

Operation, Maintenance and Management of Sports Complex

at Dwarka Sector 08, New Delhi Published by

Delhi Development Authority on October 08, 2025

			Queries raised by prospective bidder # 1			
S1.	Ref. clause	RFP Clause	Query/ Suggestion	Response		
No.	& pg. no					
1	Bid	Due date for submission	In order to submit a responsive bid, we request the	Activity / Event Details		
	Schedule	of bid is 6th November,	Authority to allow at least 2 weeks from the date of	Last date and 19.11.2025		
	Pg. 7	2025	publication of response to queries/ clarifications to	time for Bid		
			bidders for submission of the final bid.	submission		
				Technical Bid 20.11.2025		
				opening		
2	Cl 5.4	• Average Annual	GMR Sports is part of GMR group with is a large	The bidder should have a minimum		
	Minimum	Turnover should be	conglomerate with businesses in various sectors	financial strength:		
	Eligibility	at least INR 15.00 cr.	such as Airports, Energy, Infrastructure and Sports			
	Criteria -	• Positive Net Worth	which operate as individual entities.	Average Annual Turnover		
	Financial	(Combined Net		(Combined Average Annual		
	strength	Worth in case of a	Considering there is already a requirement for the	Turnover in case of a Consortium)		
		Consortium) as on	entity to have average annual turnover of last three	in any 3 (three) years of the last 6		
	Pg. 18	31 March 2025.	FYs of INR 15 crores, we suggest that the	(six) financial years i.e., 2019-20,		
			requirement of positive net-worth may not be	2020-21, 2021-22, 2022-23, 2023-24		
			required.	and 2024-25 should be at least INR		
				15.00 cr. (INR fifteen Crore).		
			The clause may be amended to:			
			Average Annual Turnover should be at least	OR		
			INR 15.00 cr.			
			OR	Positive Net Worth {Combined Net		
				Worth in case of a Consortium} as		
			Positive Net Worth (Combined Net Worth in	on 31 March 2025.		
			case of a Consortium) as on 31 March 2025.			
				Note: Turnover or Net worth certificate of		

			Queries raised by prospective bidder # 1	
S1.	Ref. clause	RFP Clause	Query/ Suggestion	Response
No.	& pg. no			
				the Bidder should be provided by a
				Chartered Accountant (CA) must have a
				valid UDIN
3	Clause 6	Out of the bidders who	We strongly recommend that considering the total	
	Technical	secure minimum 70	evaluation is out of 100 marks, bidders who secure	The condition of the RFP prevails.
	Evaluation	marks in Technical	higher technical marks should have an advantage in	
	Pg. 20	Evaluation, the bidder	the scoring criteria.	
		which offers maximum		
		annual fee will be	Therefore, it is suggested that a Quality-Cum-Cost-	
		considered as successful	Based (QCBS) evaluation is done where in 80%	
		bidder	marks are awarder to technical criteria and 20% to	
			the financial score.	
			This will ensure that bidders who score higher on	
			technical score will have advantage in the bid	
			process.	
4	Clause 6	Competent Personnel	Considering this is a highly specialized qualification	_
	Technical		requirement, we suggest that requirement for CVs	bidders demonstrate capability to
	Evaluation		of personnel is excluded from the proposal, as there	deploy qualified resources. To address
	Pg. 21		is less than 3 weeks for submission of bid and	onboarding concerns, the following
			onboarding such personnel within this time frame is	flexibility is allowed:
			challenging.	Undertaking: Bidder may submit an
				assurance that proposed personnel will
			Instead, the same marks may be awarded to criteria	be onboarded upon award of the
			such as 'Number of personnel with specialized	contract.
			sports management qualification, sports	MoU / Letter of Intent: Alternatively,
			programme management experience, sports	provide an MoU or Letter of Intent with

			Queries raised by prospective bidder # 1	Queries raised by prospective bidder # 1						
S1.	Ref. clause	RFP Clause	Query/ Suggestion	Response						
No.	& pg. no									
			operations management experience' currently	identified personnel confirming						
			employed by the bidder.	willingness to join if awarded.						
				Bidders should include names and						
				indicative profiles in the proposal and						
				provide written assurance of hiring and						
				deployment as per agreed timelines						
				post-award.						
5	Cl 1.2	Establish a specialized	Centre of Excellence require various types of	A sports complex qualifies as a Centre						
	Pg. 9	Center of Excellence	infrastructure and equipment to operate based on	of Excellence (CoE) under Government						
		(CoE) for wrestling,	the level of athletes that will be training there. This	of India norms primarily through the						
		boxing, judo, and karate	would have a direct impact on the operational cost	Khelo India Scheme and Sports						
			of the CoE.	Authority of India (SAI) guidelines.						
			Therefore, we request the Authority to clarify if							
			there are any specific conditions for the							
			Concessionaire with regard to setting up the CoE							
6	Cl 3.1	DDA has already	We request the authority to kindly provide a list	List of equipment already been						
	Pg. 11	procured the required	and values of the equipment that has already been	procured is attached in Annexure I.						
		equipment. The	procured and that is required to be procured by the							
		remaining equipment	concessionaire.							
		sports & non-sports								
		equipment, will have to	Further, we request that contract details of							
		be procured by the	equipment already procured can be shared so that							
		concessionaire	the Concessionaire can plan accordingly.							
7	Cl 3.1	Develop a strong,	We request the Authority to confirm that in order to	Yes, the Concessionaire is permitted to						
	Pg. 12	recognizable brand for	promote the Sports Complex, the Concessionaire	co-brand the Sports Complex using the						
		the sports complex.	will be able to associate brand name of the	name of the Delhi Development						

	Queries raised by prospective bidder # 1									
S1.	Ref. clause	RFP Clause	Query/ Suggestion	Response						
No.	& pg. no									
			company/ affiliate companies within the same	Authority (DDA) along with the brand						
			group with the Sports Complex for the duration of	name of their company, for the duration						
			the Concession Period.	of the Concession Period.						

	Queries raised by prospective bidder # 2									
S1.	Ref. clause	RFP Clause	Query/ Suggestion	Response						
No.	& pg. no									
1	-	-	Whether we are permitted to develop a full-scale cricket	The development of Phase II of the						
			ground (within approximately 4-5 acres of space),	Sports Complex has already been						
			including floodlights and other supporting	undertaken by the Delhi						
			infrastructure, through our own investment.	Development Authority (DDA),						
2	-	-	The feasibility of creating multiple square boxes or turf	the Concessionaire is not required						
			sections within 4-5 acres.	to carry out any further						
3	-	-	Approval possibility for setting up a football ground	development of Phase II.						
			with proper lighting and full infrastructure.	However, the Concessionaire shall						
				be responsible for developing the						
				hostel facilities at its own cost.						
4	-	-	Kindly confirm if the ₹15 lakh security deposit is	The EMD of:						
			refundable, along with the timeline or specific	1. Bidders whose						
			conditions for its refund.	Qualification Applications						
				are found to be non-						
				responsive, and						
				2. Unsuccessful Bidders,						

			Queries raised by prospective bidder # 2	
S1. No.	Ref. clause & pg. no	RFP Clause	Query/ Suggestion	Response
				shall be returned by the Authority, without any interest, within 60 (sixty) days from the date of issuance of the Letter of Award (LOA) to the Selected Bidder and The Successful Bidder's EMD will be returned, without any interest, within 60 days of the Successful bidder signing the Agreement and furnishing the Performance Security.
5	-	-	After the technical bid, what would be the expected duration for the handover of the complex?	Following the completion of the technical bid evaluation, the expected duration for the handover of the complex is within 45 days, subject to the fulfillment of all condition's precedent by the concessionaire.
6	-	-	Post-bid, can the payment be made in phases, or is it required to be paid upfront in full?	Commencing from the Commercial Operations Date (COD), the Concessionaire shall be liable to pay the proportionate Annual License Fee plus GST to the Authority on a Quarterly basis.

			Queries raised by prospective bidder # 3	
S1.	Ref. clause	RFP Clause	Query/ Suggestion	Response
No.	& pg. no			
	-	-	We want to know about the tender period.	Activity / Event Details
				Last date and time for 19.11.2025
1				Bid submission
				Technical Bid 20.11.2025
				opening
2	-	-	can more than one firm participate together in	Yes, Consortium of maximum 3 (three) members
			this tender?	is allowed.

DELHI DEVELOPMENT AUTHORITY DWARKA SPORTS COMPLEX, SECTOR-8 NEW DELHI-110077

Inventory (Sports)

A Contract Name: Supply, installation and maintenance of Open Gym Equipment's at Centre of Excellence, Dwarka Sector-8 Contract No. GEMC-511687789941590

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.								
1	Air Walker	₹	28,580.00	1	Pieces	₹	28,580.00	
2	Sit up Station	₹	24,930.00	1	Pieces	₹	24,930.00	
3	Air Swing	₹	49,050.00	1	Pieces	₹	49,050.00	
4	Horse Rider Station	₹	27,915.00	1	Pieces	₹	27,915.00	
5	Stair Stepper with Twister	₹	35,230.00	1	Pieces	₹	35,230.00	
6	Leg Press	₹	48,338.00	1	Pieces	₹	48,338.00	
7	Arm Wheel	₹	38,732.00	1	Pieces	₹	38,732.00	
8	Exercising Bar	₹	17,629.00	1	Pieces	₹	17,629.00	
9	Double Cross Walker	₹	43,552.00	1	Pieces	₹	43,552.00	
10	Twister triple Standing	₹	26,227.00	1	Pieces	₹	26,227.00	
11	Rowing Machine	₹	43,574.00	1	Pieces	₹	43,574.00	
12	Elliptical Exerciser	₹	47,709.00	1	Pieces	₹	47,709.00	
13	Weight Assisted Shoulder Press	₹	62,375.00	1	Pieces	₹	62,375.00	
14	Weight Assisted Lat Pull down	₹	67,365.00	1	Pieces	₹	67,365.00	
15	Weight Assisted Chest Press	₹	63,373.00	1	Pieces	₹	63,373.00	
16	Weight Assisted Rowing Machine	₹	69,361.00	1	Pieces	₹	69,361.00	
17	SBR Styrene Butadiene Rubber Tiles	₹	2,196.00	216	Sqm	₹	4,74,336.00	
18	Earth work in surface excavation	₹	55.00	216	Sqm	₹	11,880.00	
19	1x5x10 cement concrete flooring	₹	4,141.00	22	Cum	₹	91,102.00	
20	Excavating holes	₹	55.00	16	Each	₹	880.00	
21	1x1.5x3 Cement Concrete	₹	6,362.00	4	Cum	₹	25,448.00	
22	1x2x4 Cement Concrete Flooring	₹	395.00	216	Sqm	₹	85,320.00	

TOTAL ₹ 13,82,906.00

B Contract Name: Procurement of gym equipment for DDA Sports Complex Sector-8, Dwarka. Contract No. GEMC-511687740691807

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.								
	Leg Curl Hamstring	₹	4,34,070.00	1	Nos.	₹	4,34,070.00	
	Pec rear delt fly	₹	4,58,170.00	1	Nos.	₹	4,58,170.00	
	Lat pulley lat pull down	₹	4,47,728.00	1	Nos.	₹	4,47,728.00	
	Arm curl	₹	3,75,530.00	1	Nos.	₹	3,75,530.00	
	Seated chest pres	₹	4,46,910.00	1	Nos.	₹	4,46,910.00	
	Seated row	₹	4,35,469.01	1	Nos.	₹	4,35,469.01	
	Shoulder pres	₹	4,47,728.00	1	Nos.	₹	4,47,728.00	
8	Rotary torso	₹	4,43,165.00	1	Nos.	₹	4,43,165.00	
9	Deltoid raise	₹	4,69,889.99	1	Nos.	₹	4,69,889.99	
10	Glute press	₹	6,12,000.00	1	Nos.	₹	6,12,000.00	
11	Olympic flat machine	₹	1,53,917.01	1	Nos.	₹	1,53,917.01	
12	Olympic incline bench	₹	1,76,757.00	1	Nos.	₹	1,76,757.00	
13	Olympic decline bench	₹	2,36,225.00	1	Nos.	₹	2,36,225.00	
14	Adjustable bench	₹	1,65,605.99	1	Nos.	₹	1,65,605.99	
15	Hyper extension bench	₹	1,17,997.00	1	Nos.	₹	1,17,997.00	
16	Stair climber	₹	10,26,995.00	2	Nos.	₹	20,53,990.00	
17	Pneumatic cable trainer	₹	7,02,000.00	1	Nos.	₹	7,02,000.00	
18	Treadmill	₹	6,29,890.00	10	Nos.	₹	62,98,900.00	
19	Exercise cycle upright	₹	3,30,115.00	5	Nos.	₹	16,50,575.00	
20	Exercise cycle recumbent	₹	3,75,530.00	5	Nos.	₹	18,77,650.00	
21	Cross trainer	₹	9,17,502.00	4	Nos.	₹	36,70,008.00	
22	Indoor rower	₹	2,48,645.00	2	Nos.	₹	4,97,290.00	
	Dual motion bikes	₹	2,54,435.00	2	Nos.	₹	5,08,870.00	
24	Functional trainer	₹	7,99,373.01	1	Nos.	₹	7,99,373.01	
25	Stretch trainer	₹	2,98,650.00	1	Nos.	₹	2,98,650.00	
	Self Spotting machine	₹	9,19,640.00	1	Nos.	₹	9,19,640.00	
	Preacher curl bench	₹	1,06,751.00	1	Nos.	₹	1,06,751.00	
	Abdomen bench	₹	1,41,948.01	2	Nos.	₹	2,83,896.01	
	Lateral trainer	₹	9,95,220.00	1	Nos.	₹	9,95,220.00	
30	Seated leg press and calf extension	₹	3,75,529.01	1	Nos.	₹	3,75,529.01	
	Multi Hip or Hip adduction	₹	4,81,431.00	1	Nos.	₹	4,81,431.00	
32	Leg extension and leg curl	₹	3,53,515.00	1	Nos.	₹	3,53,515.00	
	Abdominal and back machine	₹	3,65,699.00	1	Nos.	₹	3,65,699.00	

34 Lat rulley and seated row machine	₹ 3	3,52,871.00	1	Nos.	₹	3,52,871.00	
35 Bicep curl and tricep push down	₹ 3	3,52,193.00	1	Nos.	₹	3,52,193.00	
36 Seated chest press and vertical	₹ 3	3,64,365.00	1	Nos.	₹	3,64,365.00	
37 Chin and dip machine	₹ 5	5,53,479.00	1	Nos.	₹	5,53,479.00	
38 Velocity and resistance	₹ 12	2,92,000.00	1	Nos.	₹	12,92,000.00	
39 Reaction training	₹ 6	5,24,000.00	1	Nos.	₹	6,24,000.00	
40 45 Degree leg press	₹ 5	5,46,250.00	1	Nos.	₹	5,46,250.00	
41 Hip thruster	₹ 6	6,08,350.00	1	Nos.	₹	6,08,350.00	

TOTAL ₹ 3,23,53,657.01

Contract Name: Procurement of Table Tennis Table at Centre of Excellence, Dwarka Sector-8 Contract No. GEMC-511687768082864

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.								
1	Unbranded Aluminium Alloy Table Tennis -	₹	68,398.00	4	Pieces	₹	2,73,592.00	
	Table							

TOTAL ₹ 2,73,592.00

Contract Name: Providing and fixing sports flooring in table tennis hall at Dwarka Sports Complex, Sector-8. Contract No. GEMC-511687771385764

	S. No.	Item		Rate	Qty	Unit		Cost	Remarks	
Ĺ		Flooring	₹	4,085.00	203	Sqm	₹	8,29,255.00		
_		TOTAL		·			-	0.00.055.00		•

TOTAL ₹ 8,29,255.00

E Contract Name: Procurement of boxing equipments for Centre of Excellence, Dwarka, Sector-8. Contract No. GEMC-511687749529660

S. No.	ltem		Rate	Qty	Unit		Cost	Remarks
	Punching bag	₹	55,101.00	2	Set	₹	1,10,202.00	
2	Punching pad	₹	2,675.00	25	Pair	₹	66,875.00	
3	Wall pad	₹	10,700.00	5	Pieces	₹	53,500.00	
4	Speed balls	₹	4,150.00	5	Per Set	₹	20,750.00	
5	Boxing gloves 10 OZ	₹	2,775.00	100	Pair	₹	2,77,500.00	
6	Boxing gloves 12 OZ	₹	2,955.00	100	Pair	₹	2,95,500.00	
7	Boxing gloves 16 OZ	₹	2,866.00	100	Pair	₹	2,86,600.00	
8	Head Guard	₹	2,553.00	100	Pair	₹	2,55,300.00	
9	Training Head Gear Full face	₹	1,991.00	5	Pieces	₹	9,955.00	
10	Bandage	₹	194.00	100	Pieces	₹	19,400.00	
11	Boxing Shoes	₹	2,329.00	100	Pair	₹	2,32,900.00	
12	Coach shield	₹	1,761.00	10	Pieces	₹	17,610.00	
13	Boxing coach protective vest	₹	3,901.00	10	Pieces	₹	39,010.00	
14	Jab Stick	₹	1,451.00	10	Pair	₹	14,510.00	
15	Groin Guard for Male Cup Protector	₹	707.00	50	Pieces	₹	35,350.00	
16	Groin guard for Female Cup Protector	₹	661.00	50	Pieces	₹	33,050.00	
17	Boxing Human Dumy	₹	45,871.00	10	Pieces	₹	4,58,710.00	
18	Floor To Ceiling Ball	₹	2,949.00	5	set	₹	14,745.00	
19	Focus pad	₹	1,506.00	10	Pair	₹	15,060.00	
20	Skipping RopE	₹	391.00	50	Pieces	₹	19,550.00	
21	Boxing timer	₹	7,528.00	3	Pieces	₹	22,584.00	
22	Medicine Ball 1kg	₹	881.00	2	Pieces	₹	1,762.00	
23	Medicine Ball 2kg	₹	1,061.00	2	Pieces	₹	2,122.00	

24	Medicine Ball 4kg	₹	1,606.00	2	Pieces	₹	3,212.00	
25	Medicine Ball 6kg	₹	2,049.00	2	Pieces	₹	4,098.00	
26	Medicine Ball 8kG	₹	2,591.00	2	Pieces	₹	5,182.00	
27	Medicine Ball 10kg	₹	2,951.00	2	Pieces	₹	5,902.00	
28	Shadow Dumbbells	₹	259.00	150	Kg	₹	38,850.00	
29	Dumbbells	₹	195.00	950	Kg	₹	1,85,250.00	

TOTAL ₹ 25,45,039.00

F Contract Name: Procurement of Wrestling Equipments for Centre of Excellence, Dwarka Sector-8. Contract No. GEMC-511687776564896

S. No.	ltem		Rate	Qty	Unit		Cost	Remarks
	Fitball light speed (4 Kg)	₹	20,040.00	4	Nos.	₹	80,160.00	
2	Fitball small endurance (6 Kg)	₹	21,325.00	4	Nos.	₹	85,300.00	
3	Fitball medium strength (8 Kg)	₹	22,611.00	4	Nos.	₹	90,444.00	
4	Fitball large power (10 Kg)	₹	24,072.00	4	Nos.	₹	96,288.00	
5	Dip bar metal	₹	61,478.00	4	Nos.	₹	2,45,912.00	
6	Wall pulley endless magnet mechanism	₹	2,91,578.00	4	Nos.	₹	11,66,312.00	
7	Bulgarian Bags - small and light size - 11 lbs (5 kg) - Genuine Leather	₹	17,700.00	2	Nos.	₹	35,400.00	
8	Bulgarian Bags - small size - 13 lbs (6 Kg)- Genuine Leather	₹	17,936.00	2	Nos.	₹	35,872.00	
9	Bulgarian Bags - small size - 17 lbs (8 kg)- Genuine Leather	₹	18,408.00	2	Nos.	₹	36,816.00	
10	Bulgarian Bags - medium size - 26 lbs (12 kg)- Genuine Leather	₹	21,385.00	2	Nos.	₹	42,770.00	
11	Bulgarian Bags - large size - 37 lbs (17 kg)- Genuine Leather	₹	24,780.00	2	Nos.	₹	49,560.00	
12	Bulgarian Bags - X size - 50 lbs (23 kg)- Genuine Leather	₹	30,798.00	2	Nos.	₹	61,596.00	
13	Bulgarian Bags - X size - 58 lbs (26 kg)- Genuine Leather	₹	31,798.00	2	Nos.	₹	63,596.00	
14	Bulgarian Bags - XXL size - 66 lbs (30 kg)- Genuine Leather	₹	34,338.00	2	Nos.	₹	68,676.00	
15	Bulgarian Bags - XX size - 75 lbs (32 kg)- Genuine Leather	₹	35,990.00	2	Nos.	₹	71,980.00	
16	Bulgarian Bags - XX large size - 84 lbs (34 kg)- Genuine Leather	₹	37,288.00	2	Nos.	₹	74,576.00	
17	Fit Bar Weight - 22 lbs (10 Kg)	₹	17,700.00	4	Nos.	₹	70,800.00	
18	Fit Bar Weight - 48 lbs (22 Kg)	₹	23,600.00	4	Nos.	₹	94,400.00	
19	Fit Bar Weight - 66 lbs (30 kg)	₹	25,370.00	4	Nos.	₹	1,01,480.00	
20	Dummy power stump leather size X small	₹	66,670.00	1	Nos.	₹	66,670.00	
21	Dummy power stump leather size small	₹	73,750.00	1	Nos.	₹	73,750.00	
22	Dummy power stump leather size medium	₹	79,178.00	2	Nos.	₹	1,58,356.00	
23	Dummy power stump leather size large	₹	89,090.00	2	Nos.	₹	1,78,180.00	

24	Speed dummy stump vinyl small size	₹	38,940.00	1	Nos.	₹	38,940.00	
25	Speed dummy stump vinyl large size	₹	43,660.00	1	Nos.	₹	43,660.00	
26	Dummy speed leg vinyl size small	₹	39,000.00	1	Nos.	₹	39,000.00	
27	Dummy speed leg vinyl size medium	₹	41,400.00	1	Nos.	₹	41,400.00	
28	Dummy speed leg vinyl large	₹	43,050.00	1	Nos.	₹	43,050.00	
29	Gladiator Wall and wooden training wall	₹	1,09,858.00	2	Nos.	₹	2,19,716.00	
30	Gladiator wall and Belts	₹	12,744.00	4	Nos.	₹	50,976.00	
31	Gladiator wall and rope set	₹	10,620.00	4	Nos.	₹	42,480.00	
32	Climbing rope	₹	22,421.00	2	Nos.	₹	44,842.00	
33	HIRTS	₹	44,958.00	2	Nos.	₹	89,916.00	
34	Dummy attacker medium size	₹	68,440.00	2	Nos.	₹	1,36,880.00	
35	Dummy attacker large size	₹	70,800.00	2	Nos.	₹	1,41,600.00	
36	Snake Rope Trainer 2 inch black sleeve	₹	26,550.00	2	Nos.	₹	53,100.00	
37	Pad anti - slip	₹	75,000.00	10	Nos.	₹	7,50,000.00	

TOTAL ₹ 47,84,454.00

G Contract Name: Procurement of Equipment for Weightlifting for Centre of Excellence at Sector-8 Dwarka. Contract No. GEMC-511687796489887

S. No.	ltem		Rate	Qty	Unit		Cost	Remarks
	Weightlifting Set (Man Barbell)	₹	1,46,900.00	6	Set	₹	8,81,400.00	
2	Weightlifting Set (Women Barbell)	₹	1,42,900.00	3	Set	₹	4,28,700.00	
3	Weightlifting Training platform	₹	1,25,900.00	6	Nos	₹	7,55,400.00	
4	Pulling Blocks	₹	49,000.00	16	Pair	₹	7,84,000.00	
5	Disc rack	₹	19,900.00	4	Pair	₹	79,600.00	
6	Barbell Rack	₹	18,900.00	2	Nos	₹	37,800.00	
7	Squat stand	₹	34,500.00	4	Nos	₹	1,38,000.00	
8	Jerk Stand/block	₹	51,000.00	6	Pair	₹	3,06,000.00	
9	Powder stand	₹	6,500.00	4	Nos	₹	26,000.00	
10	Wall bar	₹	35,000.00	4	Nos	₹	1,40,000.00	
11	Plyometric boxes	₹	38,900.00	4	Nos	₹	1,55,600.00	
12	Dumbbell 5kg	₹	1,800.00	2	Pair	₹	3,600.00	
13	Dumbbell 7.5kg	₹	2,700.00	2	Pair	₹	5,400.00	
14	Dumbbell 10kg	₹	3,600.00	2	Pair	₹	7,200.00	
15	Dumbbell 12.5kg	₹	4,500.00	2	Pair	₹	9,000.00	
16	Dumbbell 15kg	₹	5,400.00	2	Pair	₹	10,800.00	
17	Dumbbell 20kg	₹	7,200.00	2	Pair	₹	14,400.00	
18	Dumbbell 25kg	₹	9,000.00	2	Pair	₹	18,000.00	
19	Dumbbell rack	₹	32,000.00	2	Nos	₹	64,000.00	
20	Parallel bar and Horizontal Bar Combo	₹	86,900.00	2	Nos	₹	1,73,800.00	
21	Kettle Bell 12kg	₹	2,700.00	2	Pair	₹	5,400.00	
22	Kettle Bell 20kg	₹	4,500.00	2	Pair	₹	9,000.00	
23	Kettle Bell 24kg	₹	6,000.00	2	Pair	₹	12,000.00	
24	Kettle Bell 32kg	₹	8,000.00	2	Pair	₹	16,000.00	
25	Kettle Bell 40kg	₹	10,000.00	2	Pair	₹	20,000.00	
26	Kettle Bell Rack	₹	11,000.00	2	Nos	₹	22,000.00	
27	Training Hurdles	₹	3,600.00	30	Nos	₹	1,08,000.00	
28	Power Rack with Inserted Platform	₹	1,18,000.00	2	Nos	₹	2,36,000.00	
29	Technique Set 25 Kg	₹	30,300.00	4	Set	₹	1,21,200.00	
30	Magnesium Powder	₹	250.00	40	Per KG	₹	10,000.00	
31	Medicine Balls 1kg	₹	600.00	3	Nos	₹	1,800.00	
32	Medicine Balls 2kg	₹	870.00	3	Nos	₹	2,610.00	

33	Medicine Balls 3kg	₹	1,260.00	3	Nos	₹	3,780.00	
34	Medicine Balls 4kg	₹	1,500.00	3	Nos	₹	4,500.00	
35	Medicine Balls 5kg	₹	1,820.00	3	Nos	₹	5,460.00	
36	Bar 20 Kg men	₹	34,900.00	6	Nos	₹	2,09,400.00	
37	Bar 15 kg womwn	₹	33,900.00	6	Nos	₹	2,03,400.00	

TOTAL ₹ 50,29,250.00

H Contract Name: Providing and fixing rubber flooring in weightlifting hall at Dwarka Sports Complex, Sector-8. Contract No. GEMC-511687723739309

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.								
1	Floor kraft 25 mm	₹	4,335.00	393	Sqm	₹	17,03,655.00	

TOTAL ₹ 17,03,655.00

Contract Name: Procurement of Taekwondo items for Centre of Excellence at Sector-8 Dwarka Sports Complex.
Contract No. GEMC-511687722509793

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.				-				
1	Taekwondo MAT	₹	4,190.00	500	Pieces	₹	20,95,000.00	
2	Chest Guard	₹	4,445.00	5	Pieces	₹	22,225.00	
3	Shine Guard	₹	3,140.00	5	Pieces	₹	15,700.00	
4	Arm Guard	₹	3,145.00	5	Pieces	₹	15,725.00	
5	Twin Pad	₹	2,946.00	5	Pieces	₹	14,730.00	
6	Single Pad	₹	2,448.00	5	Pieces	₹	12,240.00	
7	Irani Pad	₹	6,248.00	5	Pieces	₹	31,240.00	
8	Big Irani Pad	₹	6,144.00	5	Pieces	₹	30,720.00	
9	Head Guard	₹	4,448.00	5	Pieces	₹	22,240.00	
10	Punching Kit	₹	9,277.00	5	Pieces	₹	46,385.00	
11	Double Pad	₹	2,240.00	5	Pieces	₹	11,200.00	
12	Female Groin Guard	₹	2,035.00	5	Pieces	₹	10,175.00	
13	Male Groin Guard	₹	2,035.00	5	Pieces	₹	10,175.00	
14	Double Fan Pad	₹	2,765.00	5	Pieces	₹	13,825.00	

TOTAL ₹ 23,51,580.00

J <u>Contract Name:</u> Procurement of Gym Accessories for Centre of Excellence at Sector-8 Dwarka. <u>Contract No.</u> GEMC-511687781738581

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.	DI	~	000.00	705	17	-	0.40.775.00	
1	Black Rubberized Circular Dumbbell	₹	299.00	725	Kg	₹	2,16,775.00	
	• 5 Kgs – 8 Pcs = 40 Kgs							
	• 7.5 Kgs -8 Pcs = 60 Kgs							
	• 10 Kgs -4 Pcs = 40 Kgs							
	• 12.5 Kgs -6 Pcs = 75 Kgs							
	• 15 Kgs -6 Pcs = 90 Kgs • 20 Kgs -4Pcs = 80 Kgs							
	• 25 Kgs -4 Pcs= 100 Kgs							
	• 30 Kgs -2 Pcs 60 Kgs							
	• 40 Kgs -2 Pcs = 80 Kgs							
	• 50 Kgs - 2 Pcs= 100 Kgs							
	Total Weight in Kgs = 725 Kgs							
2	Black Rubberized Olympic Weight Plates	₹	245.00	1015	Kg	₹	2,48,675.00	
_	• 2.5 Kgs – 12 Pcs = 30 Kgs	`	243.00	1013	Νg	`	2,40,073.00	
	• 5 Kgs - 18 Pcs =90Kgs							
	• 7.5 Kgs -18 Pcs =135 Kgs							
	• 10 Kgs -16 Pcs =160 Kgs							
	• 15 Kgs -10 Pcs =150 Kgs							
	• 20 Kgs -10 Pcs =200 Kgs							
	• 25 Kgs -10Pcs= 250 Kgs							
	Total Weight in Kgs =1015 Kgs							
3	Gym Exercise Mat	₹	1,200.00	10	Pcs	₹	12,000.00	
	,		,				,	
4	Skipping Rope Grip Material	₹	650.00	2	Pcs	₹	1,300.00	
		`	222.30	_		`	.,555.00	
5	Push Up Stand (Mild steel made)	₹	950.00	2	Pair	₹	1,900.00	
6	Foam Roller	₹	1,250.00	2	Pcs	₹	2,500.00	

7	AB Roller	₹	1,200.00	2	Pcs	₹	2,400.00	
	Tricep Rope • Length in Number: 1.5 ft	₹	1,500.00	3	Pcs	₹	4,500.00	
9	Tricep Rod Straight	₹	2,500.00	3	Pcs	₹	7,500.00	
	Handle Lat Pull Down Maximum weight capacity-150 Kgs	₹	4,100.00	3	Pcs	₹	12,300.00	
	V - Bar	₹	3,200.00	2	Pcs	₹	6,400.00	
	Lat V / Rowing Handle	₹	2,699.00	2	Pcs	₹	5,398.00	
13	D Handle	₹	1,390.00	2	Pcs	₹	2,780.00	
14	V Bar Handle	₹	3,850.00	2	Pcs	₹	7,700.00	
15	Trap Bar / Dead Lift Bar	₹	10,900.00	2	Pcs	₹	21,800.00	
	Tricep Rod	₹	4,190.00	3	Pcs	₹	12,570.00	
	Gym Belt • Leather GYM Belt Heavy Duty	₹	2,190.00	4	Pcs	₹	8,760.00	
18	Swiss Ball / Gym Exerciser Ball (Size 66 cm)	₹	1,390.00	1	Pcs	₹	1,390.00	
19	Swiss Ball / Gym Exerciser Ball (Size 55 cm)	₹	1,180.00	1	Pcs	₹	1,180.00	
	Olympic Barbell Rod - 7 Feet • Net weight : 16 kgs.	₹	11,900.00	5	Pcs	₹	59,500.00	
	Olympic Barbell Rod - 5 Feet • Net weight : 11 kgs.	₹	9,700.00	4	Pcs	₹	38,800.00	
	Olympic Barbell Rod - 4 Feet • Net weight : 10 kgs	₹	9,200.00	4	Pcs	₹	36,800.00	
	Olympic Barbell Rod - 4 Feet EZ • Net weight : 10 kgs	₹	8,900.00	2	Pcs	₹	17,800.00	
24	Rod Stand	₹	19,900.00	2	Pcs	₹	39,800.00	
25	3 Tier Dumbbell Rack - 8 Feet. IN SS	₹	69,000.00	2	Pcs	₹	1,38,000.00	
26	Resistance Band	₹	3,000.00	1	Set	₹	3,000.00	
27	Battle Rope	₹	10,750.00	1	Pcs	₹	10,750.00	
28	Weighing Machine	₹	8,500.00	1	Pcs	₹	8,500.00	
29	T Bar Row Holder	₹	7,400.00	2	Pcs	₹	14,800.00	
30	Gym Ball Rack	₹	17,000.00	1	Pcs	₹	17,000.00	
	Plate Rack	₹	58,000.00	2	Pcs	₹	1,16,000.00	
	Rod lock Olympic Bar Collar (Plastic	₹	1,250.00	6	Pcs	₹	7,500.00	
33	FORE ARM FLEXOR with Plastic molded handle with soft grip	₹	1,250.00	4	Pcs	₹	5,000.00	
	Twister	₹	22,900.00	1	Pcs	₹	22,900.00	
	Flat Bench	₹	31,900.00	3	Pcs	₹	95,700.00	

TOTAL ₹ 12,09,678.00

K Contract Name: Procurement of fitment items for outdoor sports facilities at DSC- 8. Contract No. GEMC-511687710567771

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.				-				
1	Badminton Net Nylon	₹	4,100.00	9	Pcs	₹	36,900.00	
	Basketball Pole Steel Portable Heavy Duty With Net	₹	7,44,800.00	3	Pair	₹	22,34,400.00	
3	Electric Pole Padding	₹	16,800.00	15	Pcs	₹	2,52,000.00	
4	Net ball/Handball Goalpost Portable Aluminium	₹	89,600.00	2	Pair	₹	1,79,200.00	
5	Lawn tennis Net	₹	15,000.00	9	Pcs	₹	1,35,000.00	
6	Lawn Tennis Pole Portable/Fixedsupreme	₹	1,68,000.00	5	Pair	₹	8,40,000.00	
7	Pickle Ball Net	₹	11,088.00	8	Pcs	₹	88,704.00	
8	Pickle Ball Pole Portable Championship	₹	90,000.00	4	Pair	₹	3,60,000.00	
9	Volleyball Pole Aluminium Portable/Fixed	₹	1,90,400.00	2	Pair	₹	3,80,800.00	
10	Net ball/Handball Net	₹	4,480.00	6	Pcs	₹	26,880.00	
11	Volleyball Net	₹	7,280.00	3	Pcs	₹	21,840.00	

TOTAL ₹ 45,55,724.00

S. No.	Item		Rate	Qty	Unit		Cost	Remarks
1	Badminton Racket	₹	4,045.00	6	Nos	₹	24,270.00	

TOTAL ₹ 24,270.00

M Contract Name: Procurement of boxing accessories at DSC- 8.
Contract No. GEMC-511687746160289

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.				-				
1	balancing step ball	₹	9,790.00	3	Pcs	₹	29,370.00	
2	swiss ball	₹	1,375.00	3	Pcs	₹	4,125.00	
3	weighting machine upto 200 kg	₹	7,890.00	4	Pcs	₹	31,560.00	
4	hola hoop	₹	423.00	5	Pcs	₹	2,115.00	
5	stop watch electronics	₹	4,990.00	4	Pcs	₹	19,960.00	
6	whistles	₹	1,000.00	4	Pcs	₹	4,000.00	
7	tyre 100 kg old	₹	8,050.00	3	Pcs	₹	24,150.00	
8	tyre 70 kg old	₹	6,050.00	3	Pcs	₹	18,150.00	
9	tyre 50 kg old	₹	4,280.00	3	Pcs	₹	12,840.00	
10	hammer 3 kg	₹	2,250.00	3	Pcs	₹	6,750.00	
11	hammer 6 kg	₹	3,200.00	3	Pcs	₹	9,600.00	
12	hammer 10 kg	₹	4,580.00	3	Pcs	₹	13,740.00	
13	punching gloves	₹	538.00	100	Pcs	₹	53,800.00	
	crash mat 3m x 2m x 30cm (10'x6.5'x 12")	₹	36,780.00	1	Pcs	₹	36,780.00	
15	gumseal	₹	68.00	200	Pcs	₹	13,600.00	
	dumbell racks design to store 24-30 dumbbells 4x2 inches, 2.5 mm isi frame thickness (12 gauge)	₹	25,900.00	3	Pcs	₹	77,700.00	
17	agility ladder plastic 4 meter	₹	1,230.00	3	Pcs	₹	3,690.00	
18	plastic cones	₹	80.00	20	Pcs	₹	1,600.00	
	supply and installation of super tuff rubber tile flooring 20 mm	₹	298.00	2800	Sqft	₹	8,34,400.00	
20	wooden banches with syp pine with fine polish 5 ft x 1.6 ft x 1.6 ft hight	₹	9,980.00	10	Unit	₹	99,800.00	
21	glass miror with wooden base with pvc corner band 8 ft x 3 ft	₹	7,180.00	4	Pcs	₹	28,720.00	
	glass miror with wooden base with pvc corner band 8 ft x 7 ft	₹	9,450.00	1	Pcs	₹	9,450.00	
23	boxing score board led display	₹	64,590.00	3	Pcs	₹	1,93,770.00	
24	bracket punching bag	₹	3,590.00	8	Pcs	₹	28,720.00	

TOTAL ₹ 15,58,390.00

DELHI DEVELOPMENT AUTHORITY DWARKA SPORTS COMPLEX, SECTOR-8, NEW DELHI-110077

Inventory (Other than Sports)

A Contract Name: Supply of furniture items at Dwarka Sports Complex Sector-8.
Contract No. GEMC-511687731670414

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.				-				
1	Workstation 1200 x 600	₹	53,522.00	4	Pieces	₹	2,14,088.00	
2	Work station (1500x1500x600)	₹	74,864.00	15	Pieces	₹ .	11,22,960.00	
3	Work station (1500x600)	₹	1,04,934.00	4	Pieces	₹	4,19,736.00	
4	Secretary table (2350 x 2350)	₹	1,18,843.00	1	Pieces	₹	1,18,843.00	
5	Back unit (2350x500x750)	₹	84,962.00	1	Pieces	₹	84,962.00	
6	High Back Chair	₹	22,971.00	45	Pieces	₹ .	10,33,695.00	
7	Mid Back Chair	₹	21,438.00	26	Pieces	₹	5,57,388.00	
8	Visitor Chair	₹	16,201.00	11	Pieces	₹	1,78,211.00	
9	Modular conference table per seat	₹	17,531.00	44	Pieces	₹	7,71,364.00	
10	Mobile storage system	₹	3,51,403.00	1	Pieces	₹	3,51,403.00	
11	Training room chair with desklet	₹	12,045.00	30	Pieces	₹	3,61,350.00	
12	Almirah with Gordian lock	₹	27,495.00	10	Pieces	₹	2,74,950.00	
13	Operator table	₹	26,076.00	1	Pieces	₹	26,076.00	

TOTAL ₹ 55,15,026.00

Contract Name: Supply & installation of computer items at Dwarka Sector-8 Sports Complex. Contract No. GEMC-511687700004696

S. No.	Item		Rate	Qty	Unit		Cost	Remarks
1	Desktop	₹	74,780.00	12	Nos.	₹	8,97,360.00	
2	Laserjet Mono Printer	₹	18,600.00	11	Nos.	₹	2,04,600.00	
3	Color Inktank Printer	₹	24,690.00	1	Nos.	₹	24,690.00	
4	Sheet fed Scanner	₹	28,480.00	1	Nos.	₹	28,480.00	
5	Flatbed Scanner	₹	6,400.00	3	Nos.	₹	19,200.00	
6	MFM Copier	₹	79,495.00	1	Nos.	₹	79,495.00	
7	Pendrive	₹	1,100.00	2	Nos.	₹	2,200.00	
8	External Hard Drive	₹	5,860.00	4	Nos.	₹	23,440.00	

TOTAL ₹ 12,79,465.00

Contract Name: Supply and installation of electrical office equipment at Dwarka Sector-8 Sports complex through GeM. Contract No. GEMC-511687748507041

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.								
1	RO (AQUAGAURD)	₹	51,500.00	6	Nos.	₹	3,09,000.00	
2	Water Cooler (USHA)	₹	60,300.00	6	Nos.	₹	3,61,800.00	
3	Refrigerator (SAMSUNG)	₹	38,300.00	2	Nos.	₹	76,600.00	
4	Oven (SAMSUNG)	₹	26,000.00	3	Nos.	₹	78,000.00	
5	LCD (SAMSUNG)	₹	79,000.00	5	Nos.	₹	3,95,000.00	
6	Fan (HAVELLS)	₹	3,800.00	10	Nos.	₹	38,000.00	

TOTAL ₹ 12,58,400.00

D Contract Name: Supply of outdoor signage at DSC-8 Contract No. GEMC-511687798532714

S. No.	Item		Rate	Qty	Unit	Cost	Remarks
	Aluminum Composite Panel Sign Board	₹	24,800.00	20	Pieces	₹ 4,96,000.00	

TOTAL ₹ 4,96,000.00

Contract Name: Supply of tower extension ladder at DSC-8.
Contract No. GEMC-511687798622920, GEMC-511687785960872, GEMC-511687759663835

S. No.	Item	Rate	Qty	Unit	Cost	Remarks
	Aluminium tower ladder having reach height 31-40 foot	₹ 3,12,000.00	1	Pieces	₹ 3,12,000.00	

Aluminium self supporting ladders,	₹	14,800.00	1	Pieces	₹	14,800.00	
height 10 foot							
Aluminium self supporting ladders,	₹	11,200.00	1	Pieces	₹	11,200.00	
height 8 foot							

TOTAL ₹ 3,38,000.00

Contract Name: Procurement of items for pantry use in DSC-8.
 Contract No. GEMC-5116877402442241, GEMC-511687783073146, GEMC-511687717085173, GEMC-511687781932615, GEMC-511687794649514, GEMC-511687772793897, GEMC-511687717939801, GEMC-511687757307188, GEMC-511687783129766, GEMC-511687773731575, GEMC-511687719585372, GEMC-511687721048055, GEMC-511687783521059

S. Item Rate Qtv Unit Cost Remarks No. 1,680.00 1 Drinking glass ₹ 70.00 24 Set ₹ 2 Plastic container ₹ 271.30 10 Pcs ₹ 2,713.00 ₹ 650.00 4 Pcs ₹ 2,600.00 3 Tray 33.60 30 Pcs 1,008.00 4 Spoon ₹ ₹ 5 Induction heater 3,800.00 Pcs 3,800.00 6 Tea set 2,999.00 3 Set 8,997.00 7 SS spoon (big) 85.00 30 Pcs ₹ 2,550.00 8 Tea pan ₹ 1,148.00 2 Pcs ₹ 2,296.00 9 Bowl Pcs 8 ₹ 520.00 ₹ 65.00 20 Pcs 10 Cup and mug 160.00 ₹ 3,200.00 ₹ 20 Pcs 11 Water glass 40.00 800.00 ₹ ₹ 12 Dinner set ₹ 12,500.00 1 Set ₹ 12,500.00 13 Glass coaster ₹ 310.00 8 Pcs ₹ 2,480.00

TOTAL ₹ 45,144.00

Contract Name: Supply of various earthen pots, cement pots, fiber pots for Horticulture work at DSC-8, DDA.

Contract No. GEMC-511687703611505, GEMC-511687716731169, GEMC-511687744734765, GEMC-511687761015304, GEMC-511687772125562, GEMC-511687770181752, GEMC-511687732446737, GEMC-511687700639485

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.								
	Unbranded round ceramic flower pots or plants	₹	290.00	20	Pieces	₹	5,800.00	
2	Earthen pots 10"	₹	42.80	2500	Pieces	₹	1,07,000.00	
3	Earthen pots 8" special	₹	34.90	300	Pieces	₹	10,470.00	
4	Earthen pots 12" ordinary	₹	64.90	400	Pieces	₹	25,960.00	
5	Fiber pots 18"	₹	1,498.00	60	Pieces	₹	89,880.00	
6	Cement pot 24"	₹	1,450.00	15	Pieces	₹	21,750.00	
7	Fiber pots 20"	₹	1,950.00	60	Pieces	₹	1,17,000.00	
8	Brass flower pot	₹	1,887.00	20	Pieces	₹	37,740.00	

TOTAL ₹ 4,15,600.00

Contract Name: Supply of various tools and implement for Horticulture work at DSC-8, DDA.
Contract No. GEMC-51168776495069, GEMC-511687732585580, GEMC-511687765286226, GEMC-51168773896634, GEMC-51168776495069, GEMC-511687764131447, GEMC-511687771069302, GEMC-511687771704213, GEMC-511687729932957, GEMC-511687724222469, GEMC-511687767063950, GEMC-51168776790395, GEMC-511687721318305

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.								
1	Rubber hose pipe	₹	195.00	1000	Mtr	₹	1,95,000.00	
2	Water sprinkler	₹	1,250.00	15	Pieces	₹	18,750.00	
3	Wheel barrow	₹	6,200.00	4	Pieces	₹	24,800.00	
4	Shade net	₹	70.00	100	Sqm	₹	7,000.00	
5	Watering can	₹	219.00	6	Pieces	₹	1,314.00	
6	Pruning Shear	₹	670.00	3	Pieces	₹	2,010.00	
7	Hira Axes felling	₹	200.00	10	Pieces	₹	2,000.00	
8	Wood Handle pick axe	₹	280.00	15	Pieces	₹	4,200.00	
9	Khurpi	₹	300.00	20	Pieces	₹	6,000.00	
10	Spade	₹	358.00	15	Pieces	₹	5,370.00	
11	Garden Rake	₹	337.00	10	Pieces	₹	3,370.00	

Contract Name: Procurement of Benches, MS Lockers and Wall Clock. Contract No. GEMC-511687706967347

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.								
1	MS Lockers	₹	35,000.00	3	Pieces	₹	1,05,000.00	

TOTAL ₹ 1,05,000.00

Contract Name: Procurement of maintenance items for DSC-8.
Contract No. GEMC-511687721504551, GEMC-511687721504551, GEMC-511687750119535, GEMC-511687776476345, GEMC-511687717042293, GEMC-511687717042293, GEMC-511687737609084, GEMC-511687744619301, GEMC-511687737822865, GEMC-511687787971024

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.				-				
1	Roller blinds	₹	2,559.00	147	Sqm	₹	3,76,173.00	
2	Shoe Racks at various places	₹	13,500.00	6	Nos	₹	81,000.00	
3	Soap Dispenser	₹	1,127.00	50	Nos	₹	56,350.00	
4	Mobile container big 1000 ltr	₹	34,999.00	4	Nos	₹	1,39,996.00	
5	Traffic cone	₹	799.00	30	Nos	₹	23,970.00	
6	Barrier	₹	7,989.50	10	Nos	₹	79,895.00	
7	SS Dustbins	₹	985.00	20	Nos	₹	19,700.00	
8	Notice Board	₹	7,998.00	2	Nos	₹	15,996.00	
9	Bye-laws display boards (Qty 08 of 8'X4' each)	₹	219.483	256	Pieces (1 Sq.ft.)	₹	56,187.65	
10	Flag-post	₹	84,999.00	1	Nos	₹	84,999.00	

TOTAL ₹ 9,34,266.65

K <u>Contract Name:</u> Supply of Roller blinds in Secretary Room at Centre of Excellence, Dwarka Sector-8. <u>Contract No.</u> GEMC-511687787142180

S. No.	Item		Rate	Qty	Unit		Cost	Remarks
	Roller blinds	₹	2,600.00	16	Sqm	₹	41,600.00	
	TOTAL					₹	41,600.00	

<u>Contract Name:</u> Supply of Sports Facility name board at Dwarka Sector-8 Sports Complex. <u>Contract No.</u> S.O. No. 01/DSC-8/DDA/2023-24

	S. No.	Item		Rate	Qty	Unit		Cost	Remarks
	1	SS Plates	₹	24.25	1728	Sq In.	₹	41,904.00	
_		TOTAL					_	44 004 00	

TOTAL ₹ 41,904.00
Add: GST @ 18% ₹ 7,543.00
Grand TOTAL ₹ 49,447.00

M <u>Contract Name:</u> Procurement of Colour flags at DSC-8. <u>Contract No.</u> S.O. No. 04/DSC-8/DDA/2023-24

S. No.	. Item		Rate		Unit	Cost		Remarks
1	Colour Flags	₹	650.00	30	Nos.	₹	19,500.00	

TOTAL ₹ 19,500.00

Contract Name: Supply of SS Poles for festival flag at DSC-8. Contract No. S.O. No. 05/DSC-8/DDA/2023-24

S.	Item	Rate	Qty	Unit	Cost	Remarks
No.						

1 SS Flag poles	₹	10,502.00	22	Set	₹	2,31,044.00	
TOTAL		-		=	₹	2,31,044.00	

Contract Name: Procurement of Misc. items such as Receipt Slips, Name plates, Flag Poles and Key box at DSC-8.

Contract No. S.O. No. 04/DSC-8/DDA/2024-25

0

Q

S.	Item		Rate	Qty	Unit		Cost	Remarks
No.								
1	Name plates	₹	20.50	3500	Sq,in	₹	71,750.00	
2	SS Flag poles	₹	8,895.00	10	Set	₹	88,950.00	
3	Key Box	₹	6,350.00	2	Nos	₹	12,700.00	

TOTAL ₹ 1,73,400.00
Add: GST @ 18% ₹ 31,212.00
Grand TOTAL ₹ 2,04,612.00

<u>Contract Name:</u> P/F of Glass Film at various locations in Admin block at Centre of Excellence, Dwarka Sports Complex Sector-8.

Contract No. GEMC-511687775164686

S. No.			Rate		Qty Unit		Cost	Remarks
1	Glass Film	₹	99.00	892	Pieces	₹	88,308.00	

TOTAL ₹ 88,308.00

Contract Name: Procurement of Plastic Dustbin for various outdoor locations at Centre of Excellence, Dwarka Sector-8.

Contract No. GEMC-511687739132708

S. No.	ltem		Rate	Qty	Unit		Cost	Remarks
1	Plastic Dustbin	₹	3,270.00	30	Pieces	₹	98,100.00	

TOTAL ₹ 98,100.00

Contract Name: Providing and fixing of Artificial Turf at Centre of Excellence, Dwarka Sector-8 Contract No. GEMC-511687712903344

S. No.	Item		Rate	Qty	Unit		Cost	Remarks
1	Artificial Turf	₹	2,260.00	119	Sq.Ft.	₹	2,68,940.00	

TOTAL ₹ 2,68,940.00